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Section – A 

Analysis Skills 

Q1) A) Read the following passage and answer the questions that follow. (5 x 1 = 5) 

Aristotle was born in 384 B.C. in the town of Stagna at the Northern end of the 

Aegean Sea. His father was an educated and influential man, the court physician 

to the grand father of Alexander the great. 

 In 367 BC at the age of seventeen, Aristotle went to Athens which was a  

centre of learning. There he studied under Plato, the great philosopher of the time. 

Aristotle became an outstanding teacher and was called to Macedonia to tutor the 

fourteen year old Alexander. Alexander the great never forgot his teacher and 

provided him with funds to continue scientific studies and research. Aristotle  

produced between four hundred to thousand books. 

a) Name Aristotle’s birth place? 

b) Who was Aristotle’s teacher? 

c) Why was Aristotle appointed tutor? 

d) How did Alexander the great respect his teacher? 

e) Give a synonym for ‘outstanding’. 

 B) Read the following passage and answer by choosing the right answer. (5 x 1 = 5) 

Not only Gandhiji’s politics but his personality took shape in South Africa. The 

most formative years of his life had been spent there. His interest in moral and            

religious questions dated back to his early childhood but it was only in South  

Africa that he could study them systematically. 

a) Gandhiji’s personality was shaped in  

i) Childhood  

ii) South Africa 

iii) India  

iv) England 

 



   

b) What did Gandhiji study in South Africa? 

i) Moral questions  

ii) Political questions 

iii) Moral and religious questions 

iv) None of the above 

 

c) ‘Formative years’ mean 

i) Years which influenced the character of a person 

ii) Years which denounced the personality of a person 

iii) Years which formed into a group 

iv) None of the above 

 

d) The antonym for moral is  

i) Unmoral 

ii) Immoral 

iii) Dismoral 

iv) None of the above 

 

e) Which word in the passage means, ‘methodically’? 

i) Interest 

ii) Systematically 

iii) Personality  

iv) Religious 

 

 Q2) A) Correct the following sentences. (5 x 1 = 5) 
a) They live at Nellore. 

b) He is your brother, isn’t it? 

c) Where you are going? 

d) One should put his things in the room. 

e) He is suffering with fever. 

 

  



   

 B) Rewrite the sentences as directed. (5 x 1 = 5) 

a) They carried the luggage. (Change the voice) 

b) He will not come. (Add a question tag) 

c) Raja said, ‘Can you sing a song’? (Change into indirect speech) 

d) Seema is the cleverest girl. (Change into comparative degree) 

e) The answer is correct but lengthy (Change into a complex sentence) 

 C) Change into direct speech. (2 x 1 = 2) 

a) My father told me to come home early. 

b) The girl asked the woman where she lived. 

 D) Fill in the blanks with correct forms of verbs. (5 x 1 = 5) 

a) Help ! I __________ down. (fall)  

b) I  ________ my homework now. (do) 

c) The boy __________ in the park everyday. (play) 

d) I fell asleep when I __________. (drive) 

e) They ________ (listen) to him carefully. 

 E) Fill in the blanks with suitable words given. (5 x 1 = 5) 

a) Ravi _________ all day. 

b) Neelu ________ the car up the hill. 

c) The celebration __________ the end of a successful year. 

d) We ___________ the opportunity. 

e) They like to __________ achievers. 

(marks, applaud, drove, worked, took) 

 F) Rewrite the jumbled sentences to make a coherent passage.  (3) 

a) They are the source of leadership and skills. 

b) Such brain drain must be regulated. 

c) India has the largest youth population in the world. 

d) They are also strong forces in social movements. 

e) But most of the talent is going abroad. 

 G) Write a dialogue between a teacher and student about project completion.  (3) 

 

 H) Write a paragraph using the following hints.  (3) 

Nike – no factories – lean organization  – strong at research work – innovative 

products – high quality – low price – global brand  – number one brand 



   

  I) Write in about 100 words on any one of the following: (3) 

 a) Reading.  

 b) Health. 

 c) Social Media. 

Section – B 

Descriptive Skills 

 
Q3) Write an essay on ONE of the following: (1 x 5 = 5) 

a) How was the lover’s reunion planned? 

b) Bring out the humour in ‘Dolly at the dentist’s. 

c) Sketch the character of the thief in, ‘The thief’s story’. 

Q4) Write short notes on any three: (3 x 3 = 9) 

a) Discuss the attitude of the speaker in Milton’s poem. 

b) What is compared to the rose and how? 

c) Bring out the theme of joy in ‘Laugh and be Merry’. 

d) What is Patel’s message in the poem? 

e) Critically appreciate ‘The Tables Turned’. 

Q5) Write an essay on one of the following: (1 x 4 = 4) 

a) Describe the life of the old refugee. 

b) Sketch the character of the fortune teller. 

c) Justify the title ‘The Gold Watch’. 

Q6) a) Explain any two: (2 x 2 = 4) 

i) ‘I have caught him in this’. 

ii) My presents cannot be very material or solid. 

iii) Deepak was about my fifth name. 

 b) Explain any one: (1 x 4 = 4) 

i) And always light, aerial underneath. 

ii) Laugh for the time is brief. 

��� 
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Q1) D {Mìü…¨ ç³§éÅËÌZ JMæü§é°Mìü {ç³† ç³§éÆæÿ¦ ™é™èþµÆæÿÅÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. (6) 

a) Vö¯@þMö° Òyæþ$ ±Mæü$¯@þ$ Ô¶ýMæü$…™èþËMæü$… {¼Ä¶ý$¯@þ…§æþ¯@þ$…yæþ$ õÜ 

Mö° ¿¶ýÇÆÿ¬…ç³# Ò$™èþ° Ô¶ýMæü$…™èþË çÜ™èþÅÐ@þ¬ Ð@þÌñýP Ýë«̈ ÓçÜ 

¨Ó¯@þ$™èþ Ð@þ$à ç³†{Ð@þ™èþ ÑÐóþMæüÐ@þ¬™ø ¯@þ° ¨Ð@þÅÐé×ìý §é 

Ñ°^óþ «§æþÆ>«̈ ¯é£æþ$¯@þMæü$ ÑçÜÃÄ¶ý$ Ð@þ$…§æþVæü §æþ™èþÞ¿êçÜ§æþ$ÌŒý 

 

b) ™èþ¯@þ Ð@þ¬ @̄þ$ ç³yæþz º¯@þ²Ð@þ¬Ë$— §æþÐ@þ¬ÃËOò³— VæüË Mæü*ÇÃ õ³ÇÃ ± 

f¯@þç³† OòÜç³Mæü$¯ðþ² Ä¶ý$¨ çÜMæüP¯@þ; Æ>fÅÐ@þ¬ ´ëË$ ÌôýMæü ¡ 

‚ý$¯@þ Möyæþ»êr$ MæüÍȲ @þ ¯ðþ‚ý$…VæüÑ$ ÐðþrtÆðÿ;  ^éËOÆðÿÇ Ò 

Ææÿ¯@þÆöMö; ¯é¯@þÌôýÑ$ Ä¶ý$° Ä¶ý*yæþÆðÿ; ÌZMæüÐ@þ¬ÐéÆæÿ$ MóüÔ¶ýÐé! 

 

Q2) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ Æðÿ…yìþ…sìýMìü, ‘B’ ¿êVæü… ¯èþ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$  

 {ÐéÄ¶ý¬Ð@þ¬.   (4 x 2 = 8) 

A-¿êVæü… 

a) C…Mæü O§ðþÐ@þ…ºM>° Äñý¬…yæþ$ Ô¶ýÆæÿ×ý…º$ Ìôý§æþ$. 
b) ^óþÆÿ¬ ¨Væü…yìþsìýt íÜ™èþVæü$…yæþ$ VæüËyðþ? 
c) ÐéÆæÿ$ {»êçßýÃ×ý$Ìñý Äôý$MîüOyðþ¯@þ OòÜÇ…ç³Væü¯Œþ 
d) Ð@þ$Væü yìþ…Mæü ¯@þ¯@þ$² OòÜ^èþ$¯ðþ? 

 

B-¿êVæü… 

a) Ðèþ$…_ Væü™èþÐèþ$$¯èþ Mö…^ðþÐóþ$¯øÄŒý$. 
b) MæüÑ™èþMæü$ ò³…yìþÏ ç³…¨â¶ý$å Mæüí³µ…^èþ$¯éyæþ$. 
c) ± çßýË…º$ Mæü¯èþ²̄ èþ$ {́ ëÆæÿ®±Äæý$ Ðèþ$Væü$¯ðþ? 
d) Aç³š Ð@þyæþz̈  çÜ$Ñ* ¿¶ýÆæÿ™éÐ@þ° Ò° õÜÐ@þMæü$¯Œþ. 

 



   

 

Q3) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯@þÐ@þ¬ 
{ÐéÄ¶ý¬Ð@þ¬.   (2 x 6 = 12) 

A-¿êVæü… 

a) Ô¶ýMæü$…™èþË Ð@þ–™é¢…™é°² ™ðþËµ…yìþ. 
b) »ñýfj Ðèþ$à§óþÑ Ð@þ*™èþ– Ðé™èþÞÌêÅ°² ÑÐ@þÇ… è̂þ…yìþ. 

B-¿êVæü… 

a) }Mæü–çÙ$~yæþ$ §æþ$]SçÜ$¢̄ @þ² {§úç³¨° Gr$Ï K§éÆ>ayæþ$? 
b) }Mæü–çÙ$~yìþ Væü$×ýÖÌêË¯@þ$ G‚ýÊ̄ @þ _{†…_¯@þ Ñ«§æþÐ@þ¬ ÑÐ@þÇ…^èþ…yìþ. 

 

Q4) D {Mìü…¨ Ðé°ÌZ ‘A’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü, ‘B’ ¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬.  

    (2 x 6 = 12) 

A-¿êVæü… 

a) Væü$Ææÿgêyæþ {ç³¿Z«̈ …_¯@þ §óþÔ¶ý Ë„æü×êË$. 
b) {ç³¿Z«§æþÐ@þ¬ §éÓÆ> Æ>Ä¶ý${́ ùË$ ÐéÇ çÜ…§óþÔ¶ýÐ@þ¬. 

B-¿êVæü… 

a) MæüÆæÿÛMæü$yæþ$ ‘VúÆæÿÐ@þ ç³Ñ{™èþÐ@þÊÇ¢’ °Ææÿ*í³…^èþ…yìþ. 
b) gêçÙ$ÐéV>Ç BÐóþ§æþ¯èþ¯èþ$ ÐèþÇ~…^èþ…yìþ. 

 

Q5) D {Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é¯@þÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬.  (2 x 6 = 12) 

a)  Ð@þçÜ$…«§æþÆæÿ ´ë{™èþ _{™èþ×ý. 
b) A^èþ$Å™èþ Æ>Ð@þ$Ä¶ý$Å. 
c) “M>Ìê¡™èþ ÐèþÅMæü$¢Ë$” ¯@þÐ@þËMæü$ B õ³Ææÿ$ Gr$Ï ™èþWÄ¶ý¬¯@þ²§ø ÑÐ@þÇ… è̂þ…yìþ. 
d) M>Ìê¡™èþ ÐèþÅMæü$¢Ë$ ¯@þÐ@þË §éÓÆ> Ææÿ^èþÆÿ¬{† }§óþÑ çÜÐ@þ*gê°Mìü_ā @þ çÜ…§óþÔ¶ýÐóþ$Ñ$sìý? 

 

 

 

Q6) D {Mìü…¨ Ðé°ÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈ M>ÆæÿÅÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬.  (5 x 2 = 10) 



   

a)  Væü$×êËÄ¶ý¬yæþ$. 
b) ¿æýÆæÿ™ø™èþµ†¢. 
c) Ä¶ý$ÔZ°«̈ . 
d) ™óþf…»ñýçÜVæü$. 
e) CMæü$PÐ@þ*Ææÿ$yæþ$. 
f) ÌôýMæü¨. 
g) AMæüPrMæüPr. 
h) ™èþÍÏ§æþ…{yæþ$Ë$. 
i) MæüçÙtç³# ´ër$. 
j) ´ëË$ÐøòÜ. 

 

Q7) D {Mìü…¨ Ðé°ÌZ I¨…sìýMìü Ñ“Væüçß ÐéMæüÅÐ@þ¬Ë$ {ÐéíÜ çÜÐèþ*çÜÐ@þ¬Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬.  (5 x 2 = 10) 

a)  ÌZMæüçÜ$¢™èþ$yæþ$. 
b) Æ>fÅ çÜ$QÐ@þ¬. 
c) «§æþÆæÿÃ {í³Ä¶ý¬Ë$. 
d) fË Mæü×ý…º$Ë$. 
e) A«§æþÆæÿÃÐ@þ¬. 
f) çÜ{™èþP™èþ$Ð@þ#. 
g) MæüÐ@þ$Ë VæüÆæÿ$Âyæþ$. 
h) ™óþgZÆæÿ*ç³ Ñ“MæüÐ@þ$Ð@þ¬Ë$. 
i) Væü$×ýÐ@þ$×ý$Ë$. 
j) Mæü×ýÓ Ð@þ$àÐ@þ¬°. 

 
��� 
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Section - A 

                                              Answer any two of the following  (2 x 13 = 26)   

 

Q1) Why Gupta period known as golden age? 

 
Væü$ç³#¢ËM>ËÐ@þ¬¯@þ$ çÜÓÆæÿ~ Ä¶ý¬VæüÐ@þ$¯@þ$rMæü$ M>Ææÿ×ýÐóþ$Ñ$? 

  

Q2) Write about the life of Vardhamana Mahaveera and its teaching. 
 Ð@þÆæÿ®Ð@þ*¯@þ Ð@þ$àÒÆæÿ$° iÑ™èþ… Ð@þ$ÇÄ¶ý¬ »Z«§æþ¯@þË @̄þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 

Q3) Differentiate Early culture and Vedic culture. 
ç³NÆæÿÓ çÜ…çÜP –† Ð@þ$ÇÄ¶ý¬ Ðóþ§æþ çÜ…çÜP –†Mìü ¿ôý§æþÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

 

Q4) Describe achievements of Vijaya Nagara ruler. 
ÑfÄ¶ý$¯@þVæüÆæÿ… ´ëËMæü$Ë$ Ýë«̈ …_¯@þ ÑfÄ¶ý*Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

  
Q5) Write a note on eradication of untouchability. 

A…rÆ>°™èþ¯@þ… °Ææÿ*ÃË¯@þ¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 
Q6) Trace western impact on India. 

¿êÆæÿ™èþ§óþÔ¶ýÐ@þ¬Oò³ ´ëÔ>a™èþÅ {ç³¿êÐ@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

Section - B 

                         Write short notes on any three of the following questions   (3 x 4 = 12) 

 

Q7) Jainism. 
Ogñý¯@þÐ@þ$™èþÐ@þ¬. 
 

Q8) Indus valley. 
íÜ…«§æþ* ¯éVæüÇMæü™èþ. 

 

Q9) Swamy Vivekananda. 
ÝëÓÑ$ ÑÐóþM>¯@þ…§æþ. 

 

 



   

 

Q10)  Mahatma Gandhi. 
 Ð@þ$à™èþÃ V>…«©. 

 

Q11)  Dayanand Saraswati. 
 §æþÄ¶ý*¯@þ…§æþ çÜÆæÿçÜÓ†. 
 

Q12)  Chola administration. 
 ^øâ¶ý$Ë ç³Ç´ëË¯@þ. 
 

Q13)  Veeresalingam. 
 ÑÆóÿÔ¶ýÍ…Væü… ç³…™èþ$Ë$. 
 

Q14)  Chaturvidha Purushardha. 
 ^èþ™èþ$ÇÓ«§æþ ç³#Ææÿ$ÚëÆæÿ®. 

 

                                                     Section – C  (3 x 4 = 12) 

     

Q15)  Fill in the blanks :   

 a) Arya Samaj was founded by _______________ 

BÆæÿÅ çÜÐ@þ*f Ýë¦ç³Mæü$yæþ$ _______________ 

 

b) _______________ was the religion led by Gautham Buddha. 

_______________ Ð@þ$™èþÐ@þ¬ Vú™èþÐ@þ$ º$§æþ$®° ¯óþ™èþ–™èþÓÐ@þ¬ÌZ {́ ëÆæÿ…¿¶ýOÐðþ$¯@þ¨. 

 c) _______________ is the oldest veda. 

_______________ ç³#Æ>™èþ¯@þ Ðóþ§æþ Ð@þ$™èþÐ@þ¬. 

 d) Sati Pratha was eradicated by _______________ 

çÜ†{ç³™èþ °Ææÿ*ÃÍ…_¯@þ Ðéyæþ$ _______________ 

 

Q16)  Choose the correct answer : 

a) This river flow through magadh.  

Ð@þ$Væü«§æþÌZ {ç³Ð@þíßý… è̂þ$ ¯@þ¨. 

 i) Ganga Væü…V> 

 ii) Godavari Vø§éÐ@þÇ 

 iii) Gomati VöÐ@þ$† 

 iv) Yamuna Ä¶ý$Ð@þ¬¯é 
 

 



   

 b) Ashoka send his messages through 

AÔZMæü$yæþ$ ™èþ¯@þ çÜ…§óþÔ¶ýÐ@þ¬¯@þ$ ç³…õ³Ðéyæþ$ 

 i) Inscriptions. 

Ô>çÜ¯éË$ 

 ii) Letters. 

ÌôýQË$. 

 iii) Messages. 

çÜ…§óþÔ>Ë$. 

 iv) Bhiksham. 

¼„æü…. 

 

 c) Great bath was constructed in 

Vöç³µ Ýë²̄ @þ ÐésìýM æü °ÇÃ…^èþºyìþ…¨ GMæüPyæþ 

 i) Mohanjadaro. 

Ð@þ$çßý…f§éÆö. 

 ii) Hanumakonda. 

çßý¯@þ$Ð@þ$Mö…yæþ. 

 iii) Kolleru. 

MöÌôýÏÆæÿ$. 

 iv) Vajji. 

Ð@þhj 

 

 d) Vijaya Nagara means the city of  

ÑfÄ¶ý$ ¯@þVæüÆæÿ Ýë{Ð@þ*fÅ… A…sôý 

 i) Colours. 

Ææÿ…Væü$Ë$. 

 ii) Joy. 

B¯@þ…§æþÐ@þ¬. 

 iii) Victory. 

ÑfÄ¶ý$Ð@þ¬Ë$. 

 iv) War. 

Ä¶ý¬«§æþ®Ð@þ¬. 

 

 

Q17) Match the following : 

a) Non Violence i) Sultan 



   

b) Krishna Devaraya ii) Mughal 

c) Rudrama Devi iii) Gandhiji 

d) Shah Jahan iv) Vijayanagara 

  v) Kakatiya 

 

a) Aíßý…çÜ i) çÜ$Ìê¢̄ Œþ 

 b) Mæü–çÙ~§óþÐ@þÆ>Ä¶ý$ ii) Ððþ¬çœ$ÌŒý 

c) Ææÿ${§æþÐ@þ$§óþÑ iii) V>…«©h 

d) Úëfçßý¯Œþ iv) ÑfÄ¶ý$¯@þVæüÆæÿ… 

  v) M>Mæü¡Ä¶ý$ 

 

��� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) Explain the growth definition of economics. 
 AÆæÿ®Ô>çÜˆ… Ð@þ– ®̈ °ÆæÿÓ^èþ¯@þÐ@þ¬¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
   

Q2)  What are exceptions to the law of demand? 
 yìþÐ@þ*…yŠþ çÜ*{™èþ…ÌZ Ñ$¯@þàÆÿ¬…ç³#Ë$ HÑ$sìý? 

   

Q3)  Production function. 
 E™èþµ†¢ Ñ«̈ . 
   

Q4) Distinguish between Fixed Costs and Variable Costs. 
 íÜ¦Ææÿ Ð@þÅÄ¶ý$… Ð@þ$ÇÄ¶ý¬ ^èþÆæÿ Ð@þÅÄ¶ý$… Ð@þ$«§æþÅ ™óþyéË$. 
  

Q5) Product differentiation. 
 Ð@þçÜ$¢ Ñ^èþ„æü…. 
  

Q6) What are the causes of business cycle? 
 ÐéÅ´ëÆæÿ è̂þ“M>ËMæü$ M>Ææÿ×êË$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬? 
  

Q7) Cardinal and Ordinal Utility? 
 M>Çz̄ @þÌŒý {ç³Äñý*f¯@þ… Ð@þ$ÇÄ¶ý¬ BÇz̄ @þÌŒý {ç³Äñý*f¯@þ…. 
  

Q8) Balance of Payments. 
 ^ðþÍÏ…ç³#Ë ÔóýçÙÐ@þ¬. 
 

     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 
 

Q9) State the law of diminishing marginal utility? What are exceptions to it? 
 „îü×Z´ë…™èþ {ç³Äñý*f¯@þ çÜ*{™é°² ™ðþË$ç³#Ð@þ¬? §é° Ñ$¯@þàÆÿ¬…ç³#Ë$ ™ðþË$ç³#Ð@þ¬. 
 

Q10) Define Monopoly? How price is determined under these market conditions? 
 HMæüÝëÓÐ@þ$Å…¯@þ$ °ÆæÿÓ_…ç³#Ð@þ¬? D Ð@þ*ÆðÿPsŒýÌZ «§æþÆæÿ °Ææÿ~Æÿ¬…^èþyæþ… Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
 
 
Q11) Describe the role of WTO in promoting International Trade? 



   

 A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆ>°² ò³…´÷…¨…^èþ$rÌZ WTO Äñý¬MæüP ´ë{™èþ° Væü$Ç…_ 
ÑÐ@þÇ…^èþ$Ð@þ¬? 

  

Q12) “Economics is a Study of causes of Material Welfare”. Discuss. 

 “Ððþ$sîýÇÄ¶ý$ÌŒý çÜ…ç³§æþMæü$ M>Ææÿ×ý… AÆæÿ®Ô>çÜ̂… è̂þ§æþ$Ð@þ#” ^èþÇa…ç³#Ð@þ¬. 
  

     SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 

 

Q13) Explain the cost-output relationship in the short-run and long-run? 
 çÜÓËµM>Ë… Ð@þ$ÇÄ¶ý¬ ©ÆæÿƒM>Ë…ÌZ Ð@þÅÄ¶ý$… Ð@þ$ÇÄ¶ý¬ E™èþµ†¢ A¯@þ$º…«§æþ… Væü$Ç…_ 

ÑÐ@þÇ…ç³#Ð@þ¬. 
  

Q14) Define National Income? How is it estimated? 
 gê¡Ä¶ý*§éÄ¶ý$Ð@þ¬ A¯@þV>¯óþÑ$? 
  

Q15) What is Consumer Surplus? What are the exceptions to it? Explain. 
 Ñ°Äñý*Væü§éÆæÿ$° Ñ$Væü$Ë$ A¯@þV>¯óþÑ$? §é° Ñ$¯@þàÆÿ¬…ç³#Ë$ Væü$Ç…_ ÑÐ@þÇ…ç³#Ð@þ¬. 
      

Q16) What is monopolistic competition? What are the differences between perfect 

competition and monopolistic competition? 
 ç³Çç³NÆæÿ~ ´ùsîý A¯@þV>¯óþÑ$? HMæüÝëÓÐ@þ$Å ´ùsìý Ð@þ$ÇÄ¶ý¬ ç³Çç³NÆæÿ~ ´ùsîýË¯@þ$ Ñ¿ôý¨… è̂þ…yìþ. 
  

Q17) Describe the recent Trade Policy of Government of India. 
 ¿êÆæÿ™èþ {ç³¿¶ý$™èþÓ Äñý¬MæüP ¯@þ*™èþ¯@þ Ð@þÆæÿ¢Mæü ´ùËíÜ Væü$Ç…_ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

Q18) Discuss about the law of variable proportions. 
 ^èþÆ> @̄þ$´ë™éË çÜ*{™èþÐ@þ¬ Væü$Ç…_ ^èþÇa…^èþ$Ð@þ¬. 
  

���� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) What do you mean by ‘Discount’? Explain the types of discounts. 

 ‘yìþÝûP…sŒý’ A @̄þV> AÆæÿ®Ðóþ$Ñ$? yìþÝûP…sŒýÌZ° ÆæÿM>Ë @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
  

Q2)  Explain the need for maintaining the Subsidiary Books. 
 çÜàÄ¶ý$Mæü ç³#çÜ¢M>Ë¯@þ$ °ÆæÿÓíßý…^èþÐ@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
   

Q3)  List the features of the bill. 
 ¼Ë$Ï Äñý¬MæüP Ë„æü×êË¯@þ$ ™ðþË$µÐ@þ¬. 
   

Q4) Explain the significance of preparation of a Trail Balance. 
 A…Mæü×ê¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$Ð@þËíÜ¯@þ BÐ@þÔ¶ýÅMæü™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
  

Q5) Classification of errors. 
 §øÚëË Ð@þÈYMæüÆæÿ×ý.  
  

Q6) Write differences between capital expenditure and Revenue expenditure. 
 Ð@þÊË«§æþ¯@þ Ð@þÅÄ¶ý$Ð@þ¬ Ð@þ$ÇÄ¶ý¬ Æ>ºyìþ Ð@þÅÄ¶ý$Ð@þ¬ Ð@þ$«§æþÅVæüË ¿ôý§éË¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 
  

Q7) Features of Joint venture. 
 EÐ@þ$Ãyìþ ÐéÅ´ëÆæÿ Ë„æü×êË$. 
  

Q8) What are Secret Reserve? What are their merits and demerits? 
 ÆæÿçßýçÜÅ ÇfÆæÿ$Ó A¯@þV>¯óþÑ$? ÆæÿçßýçÜÅ ÇfÆæÿ$Ó Äñý¬MæüP {ç³Äñý*f¯éË$ Ð@þ$ÇÄ¶ý¬ ÌZ´ëË$ 

HÑ$sìý? 
 
 
 
   

     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 
    

Q9) Define term ‘Double entry system’? Advantages and Rules of Double entry 

book-keeping explain in detail? 



   

 f…r ç³§æþ$ª Ñ«§é @̄þÐ@þ¬ ç³§æþÐ@þ¬¯@þ$ °ÆæÿÓ_…ç³#Ð@þ¬? f…rç³§æþ$ª Ñ«§é¯@þ… {ç³Äñý*f¯éË¯@þ$ 
Ð@þ$ÇÄ¶ý¬ çÜ*{™éË¯@þ$ ÑÐ@þÆæÿÐ@þ¬V> ÑÐ@þÇ…ç³#Ð@þ¬. 

 
Q10) Write journal entries in the books of Chandra  

 2017     

 January 1 Started business with cash Rs. 1,00,000 and furniture with                    

Rs. 80,000. 

  ” 7 Purchased goods from Sriram Rs. 40,000, Trade discount 10%. 

  ” 10 Cash sales Rs. 70,000. 

  ” 15 Withdrew cash from bank for office use Rs. 10,000. 

  ” 18 Rent paid Rs. 5,000. 

  ” 22 Received cash from Anudeep Rs. 900 and discount allowed to him 

Rs. 100. 

  ” 25 Purchased machinery for Rs. 20,000. 

  ” 30 Paid wages by cheque Rs. 5,000. 

 ^èþ…{§æþ ç³#çÜ¢M>ËÌZ “Mìü…¨ ÐésìýMìü _sêtç³§æþ$ªË$ {ÐéÄ¶ý¬Ð@þ¬. 
 2017    
 f¯@þÐ@þÇ 1 ÐéÅ´ëÆ>°² Ææÿ*‘‘ 1,00,000Ë ¯@þVæü§æþ$™ø Ð@þ$ÇÄ¶ý¬ çœÈ²̂ èþÆŠÿ                           

Ææÿ*‘‘ 80,000Ë™ø {́ ëÆæÿ…À…^éyæþ$. 
  ” 7 }Æ>ÐŒþ$ ¯@þ$…yìþ Mö¯@þ² çÜÆæÿ$Mæü$ Ææÿ*‘‘ 40,000, Ð@þÆæÿ¢Mæüç³# yìþÝûP…sŒý 10%. 
  ” 10 ¯@þVæü§æþ$ AÐ@þ$ÃM>Ë$ Ææÿ*‘‘ 70,000. 
  ” 15 »ê…Mæü$ ¯@þ$…yìþ BïœçÜ$ AÐ@þçÜÆ>Ë °Ñ$™èþ¢… ¡íÜ¯@þ¨ Ææÿ*‘‘ 10,000. 
  ” 18 ^ðþÍÏ…_ @̄þ A§ðþª Ææÿ*‘‘ 5,000. 
  ” 22 A¯@þ$©‹³ ¯@þ$…yìþ Ð@þ_ā @þ ¯@þVæü§æþ$ Ææÿ*‘‘ 900 Ð@þ$ÇÄ¶ý¬ A™èþ°Mìü C_ā @þ yìþÝûP…sŒý 

Ææÿ*‘‘ 100. 
  ” 25 Ä¶ý$…{™èþ… Mö¯@þ$VøË$ Ææÿ*‘‘ 20,000. 
  ” 30 ^ðþMæü$P §éÓÆ> ^ðþÍÏ…_¯@þ Ðóþ™èþ¯éË$ Ææÿ*‘‘ 5,000. 
 

Q11) Record the following transactions in a Triple column cash book. 

 2017     

 June 1 Cash in hand Rs. 2,500; Cash at Bank Rs. 10,000. 

   ” 2 Paid into bank Rs. 2,000. 

   ” 6 Bought furniture and issued cheque Rs. 2,200. 

   ” 8 Purchased goods Rs. 500. 

   ” 14 Received from Rajesh Rs. 980. 

   Discount allowed Rs. 20. 

   ” 16 Cash sales Rs. 4,000 

   ” 18 Paid Anish by cheque Rs. 1,450. 

   Discount received Rs. 50 

   ” 20 Paid into bank Rs. 600. 

   ” 25 Withdrew cash from bank for office use Rs. 2,000. 

   ” 30 Paid rent by cheque Rs. 800. 



   

 “Mìü…¨ Ð@þÅÐ@þàÆ>Ë¯@þ$ Ð@þÊyæþ$ Ð@þÆæÿ$çÜË ¯@þVæü§æþ$ ç³#çÜ¢MæüÐ@þ¬ÌZ ¯@þÐðþ*§æþ$ ^óþÄ¶ý$…yìþ. 
 2017    
 l Œ̄þ 1 ^óþ†ÌZ ¯@þVæü§æþ$ Ææÿ*‘‘ 2,500 Ð@þ$ÇÄ¶ý¬ »ê…Mæü$ÌZ ¯@þVæü§æþ$ Ææÿ*. 10,000. 
   ” 2 »ê…Mæü$ÌZ fÐ@þ$ ^óþíÜ¯@þ¨ Ææÿ*‘‘ 2,000. 
   ” 6 çœÈ²̂ èþÆŠÿ Mö¯@þ$VøË$ ^óþíÜ ^ðþMæü$P (C_ā @þ¨) gêÈ ^óþíÜ¯@þ¨ Ææÿ* ‘‘ 2,200. 
   ” 8 çÜÆæÿ$Mæü$ Mö¯@þ$VøË$ Ææÿ*‘‘ 500. 
   ” 14 Æ>gôý‹Ù ¯@þ$…yìþ Ð@þçÜ*OÌñý¯@þ ¯@þVæü§æþ$ Ææÿ*‘‘ 980. 
   C_ā @þ yìþÝûP…sŒý Ææÿ*‘‘ 20. 
   ” 16 ¯@þVæü§æþ$ AÐ@þ$ÃM>Ë$ Ææÿ*‘‘ 4,000. 
   ” 18 A°‹ÙMæü$ ^ðþMæü$P §éÓÆ> ð̂þÍÏ…_ @̄þ¨ Ææÿ*‘‘ 1,450. 
   Ð@þ_ā @þ yìþÝûP…sŒý Ææÿ*‘‘ 50. 
   ” 20 »ê…Mæü$ÌZ fÐ@þ$ ^óþíÜ¯@þ¨ Ææÿ*‘‘ 600. 
   ” 25 »ê…Mæü$ ¯@þ$…yìþ BïœçÜ$ AÐ@þçÜÆ>Ë °Ñ$™èþ¢… ¡íÜ¯@þ¨ Ææÿ*‘‘ 2,000. 
   ” 30 ^ðþMæü$P §éÓÆ> ^ðþÍÏ…_¯@þ A§ðþª Ææÿ*‘‘ 800. 
  

Q12) On 31
st
 January, 2016 the Pass book of Mr. Gopal showed a debit balance of              

Rs. 41,000. Prepare a bank reconciliation statement with the following 

information. 

a) Cheques amounting to Rs. 15,600 were drawn on 27th Jan, 2016 Out of 

which cheques for Rs. 11,000 were cashed upto 31
st
 January 2016. 

b) A wrong debit of Rs. 800 has been given by the bank in Pass book. 

c) A cheque for Rs. 200 was credited in Pass book but was not recorded in 

cash book. 

d) Cheques amounting to Rs. 21,000 were deposited for collection. But 

cheques for Rs. 7,400 have been credited in pass book at 5
th
 Feb. 2016. 

e) Interest and bank charges amounted to Rs. 100 were not recorded in cash 

book. 

f)  A cheque of Rs. 500 debited in cashbook omitted to be banked. 

  f @̄þÐ@þÇ 31, 2016 ¯ésìýMìü Vø´ëÌŒý Äñý¬MæüP ´ë‹Ü ç³#çÜ¢Mæü… Ææÿ*‘‘ 41,000Ë yðþ¼sŒý °ËÓ 
^èþ*ç³#™èþ$¯@þ²̈ . “Mìü…¨ çÜÐ@þ*^éÆæÿ… B«§éÆæÿ…V> »ê…Mæü$ °ËÓË çÜÐ@þ$¯@þÓÄ¶ý$ ç³sîýt° ™èþÄ¶ý*Ææÿ$ 

^óþÄ¶ý¬Ð@þ¬. 



   

a) f¯@þÐ@þÇ 27, 2016¯@þ Ææÿ*. 15,600 ÑË$Ð@þ VæüË ^ðþMæü$PË¯@þ$ gêÈ ^óþÄ¶ý$V> A…§æþ$ÌZ 
Ææÿ*‘‘ 11,000 ÑË$Ð@þ VæüË ^ðþMæü$PË$ Ð@þ*{™èþÐóþ$ f¯@þÐ@þÇ 31, 2016ÌZV> (fÐ@þ$ 
AÆÿ¬¯@þÑ) Ð@þçÜ*OÌñý¯@þÑ. 

b) Ææÿ*‘‘ 800ËMæü$ »ê…Mæü$ ÐéÆæÿ$ ™èþç³šV> ´ë‹Ü ç³#çÜ¢Mæü…ÌZ yðþ¼sŒý C ð̂þā @þ$. 
c) Ææÿ*‘‘ 200 ÑË$Ð@þ VæüË ^ðþMæü$P¯@þ$ ´ë‹Ü ç³#çÜ¢Mæü…ÌZ “MðüyìþsŒý ^óþÄ¶ý$V> M>° C¨ ¯@þVæü§æþ$ 

ç³#çÜ¢Mæü…ÌZ @̄þÐðþ*§æþ$ M>Ìôý§æþ$. 
d) Ð@þçÜ*Ë$ MøçÜ… Ææÿ*‘‘ 21,000 ÑË$Ð@þ VæüË ^ðþMæü$PË¯@þ$ »ê…Mæü$ÌZ fÐ@þ$ ^óþÄ¶ý$V> 

A…§æþ$ÌZ Ææÿ*‘‘ 7,400 ÑË$Ð@þ VæüË ^ðþMæü$PË$ ´ë‹Ü ç³#çÜ¢Mæü…ÌZ íœ{ºÐ@þÇ 5, 2016¯@þ 
“MðüyìþsŒý ^óþÄ¶ý$ºyðþ¯@þ$. 

e) Ð@þyìþz Ð@þ$ÇÄ¶ý¬ »ê…Mæü$ ^éÈjË$ Ææÿ*‘‘ 100Ë$ @̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ @̄þÐðþ*§æþ$ M>Ìôý§æþ$. 
f) Ææÿ*‘‘ 500 ÑË$Ð@þ VæüË ^ðþMæü$P¯@þ$ ¯@þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ yðþ¼sŒý ^óþíÜ »ê…Mæü$Mæü$ ç³…ç³yæþ… 

Ð@þ$Ç^ðþ¯@þ$.  

 

     SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 
 

Q13)Define ‘Consignment’? What is the differences between a consignment and sale 

of goods? 
 Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒý¯@þ$ °ÆæÿÓ_…ç³#Ð@þ¬. Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒýMæü$ Ð@þ$ÇÄ¶ý¬ Ð@þçÜ$¢ AÐ@þ$ÃM>°Mìü Ð@þ$«§æþÅVæüË 

¿ôý§éË$ HÑ$sìý? 
  
Q14) From the following Trial Balance of Rahul, Prepare Trading, Profit and Loss 

Account for the year ending 31
st
 December, 2014 and Balance sheet as on that 

date. 

 Particulars   Dr. Cr. 
      Rs. Rs. 

 Factory rent  4,000 

  Bills receivables 5,300 

 Bills payable   4,200 

 Insurance   1,200 

 Furniture   10,000 

 Machinery   28,000 

 

 Particulars   Dr. Cr. 

      Rs. Rs. 

 Office rent   2,000 

 Manufacturing wages 21,500 

 Provision for doubtful debts  1,000 



   

 Manufacturing expenses 1,500 

 General expenses 5,400 

 Capital    60,000 

 Drawings   7,200 

 Stock on 1st Jan. 2014 20,500 

 Purchases   68,000 

 Carriage inwards 1,500 

 Sales     1,40,500 

 Sundry debtors  23,500 

 Sundry creditors  14,300 

 Cash in hand  500 

 Cash at bank  2,200 

 Carriage outwards 1,700 

 Salaries   16,000 

      2,20,000 2,20,000 
 Adjustments : 

a) Write off bad debts Rs. 500 and maintain the provision for doubtful debts 

at 5% on Sundry debtors. 

b) Stock on 31
st
 December 2014 Rs. 27,000. 

c) Unexpired insurance Rs. 300. 

d) Depreciate machinery by 5% and furniture by 10%. 

 

 

 

 

 

 “Mìü…¨ Æ>çßý$ÌŒý A…Mæü×ê @̄þ$…yìþ yìþòÜ…ºÆæÿ$ 31, 2014™ø A…™èþÐ@þ$Äôý$Å çÜ…Ð@þ™èþÞÆ>°Mìü Ð@þÆæÿ¢Mæüç³# 
Ìê¿¶ý @̄þÚëtË Rê™é¯@þ$ Ð@þ$ÇÄ¶ý¬ A§óþ ™óþ¨ ¯ésìýMìü BíÜ¢&Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 ÑÐ@þÆ>Ë$   yðþ¼sŒý “MðüyìþsŒý 
     Ææÿ*. Ææÿ*. 
 ¸ëÅMæütÈ A§ðþª   4,000 
 Ð@þçÜ*Ë$ ¼Ë$ÏË$  5,300 
 ^ðþÍÏ…ç³# ¼Ë$ÏË$   4,200 
 ÁÐ@þ*    1,200 
 çœÈ²̂ èþÆŠÿ   10,000 



   

 Ä¶ý$…{™éË$   28,000 
 BïœçÜ$ A§ðþª   2,000 
 E™éµ§æþMæü Ðóþ™èþ¯éË$ 21,500 
 çÜ…Ô¶ýÄ¶ý*™èþÃMæü Æ>°»êMîüË HÆ>µr$  1,000 
 E™èþµ†¢ QÆæÿ$aË$  1,500 
 Ýë«§éÆæÿ×ý QÆæÿ$aË$  5,400 
 Ð@þÊË«§æþ¯@þ…    60,000 
 Ý÷…™èþ ÐéyæþM>Ë$  7,200 
 f¯@þÐ@þÇ 1, 2014¯@þ çÜÆæÿ$Mæü$ 20,500 
 Mö¯@þ$Vøâ¶ý$å   68,000 
 ÌZ°Mìü ÆæÿÐé×ê  1,500 
 AÐ@þ$ÃM>Ë$    1,40,500 
 ÑÑ«§æþ º¬×ý“VæüçÜ$¢Ë$ 23,500 
 ÑÑ«§æþ º¬×ý§é™èþË$  14,300 
 ^óþ†ÌZ ¯@þVæü§æþ$  500 
 »ê…Mæü$ÌZ ¯@þVæü§æþ$  2,200 
 ºÄ¶ý$rMæü$ ÆæÿÐé×ê 1,700 
 i™éË$   16,000 
     2,20,000 2,20,000 
 çÜÆæÿ$ª»êr$Ï :& 

a) Ææÿ*‘‘ 500 Ë @̄þ$ Æ>°»êMîüË$V> Ææÿ§æþ$ª ^óþíÜ, ÑÑ«§æþ º¬×ý“VæüçÜ$¢ËOò³ çÜ…Ô¶ýÄ¶ý*™èþÃMæü 
Æ>°»êMîüË MöÆæÿMæü$ 5% HÆ>µr$ ^óþÄ¶ý*Í. 

b) yìþòÜ…ºÆæÿ$ 31, 2014 @̄þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 27,000. 
c) Ð@þ¬…§æþ$V> ð̂þÍÏ…_¯@þ ÁÐ@þ* Ææÿ*. 300. 
d) Ä¶ý$…{™éËOò³ 5% Ð@þ$ÇÄ¶ý¬ çœÈ²̂ èþÆŠÿOò³ 10% ™èþÆæÿ$Væü$§æþË HÆ>µr$ ó̂þÄ¶ý*Í. 

  

Q15) Record the following transactions in suitable subsidiary books. 

  2016   

 Jan. 1 Purchased goods from Raghu Rs. 2,000. 

   ” 3 Sold goods to Rajesh Rs. 1,250. 

   ” 5 Sold old furniture Rs. 2,000. 

   ” 8 Bought goods from Karthik Rs. 2,200. 

   ” 12 Returned goods to Raghu Rs. 800. 

   ” 16 Goods returned from Rajesh Rs. 250. 

   ” 20 Bought furniture from Rakul for Rs. 2,000 and issued cheque. 

   ” 24 Goods returned to Karthik Rs. 800. 

   ” 26 Sold goods to Amar Rs. 4,500. 

   ” 28 Bought goods from Ratna Rs. 3,200. 

   ” 30 Amar returned goods for us Rs. 1,800. 

   ” 31 Goods returned to Ratna Rs. 1,400.  



   

 “M ìü…¨ Ð@þÅÐ@þàÆ>Ë¯@þ$ çÜOÆðÿ¯@þ çÜàÄ¶ý$Mæü ç³#çÜ¢M>ËÌZ ¯@þÐðþ*§æþ$ ^óþÄ¶ý$…yìþ. 
 2016  
 f¯@þÐ@þÇ 1 Ææÿçœ¬ ¯@þ$…yìþ Mö¯@þ$VøË$ ó̂þíÜ¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 2,000. 
    ” 3 Æ>gôý‹ÙMæü$ AÑ$Ã @̄þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 1,250. 
    ” 5 ´ë™èþ çœÈ²̂ èþÆŠÿ AÐ@þ$ÃMæü… Ææÿ*. 2,000. 
    ” 8 M>È¢MŠü ¯@þ$…yìþ Mö @̄þ² çÜÆæÿ$Mæü$ Ææÿ*. 2,200. 
    ” 12 Ææÿçœ¬Mæü$ Ðéç³çÜ$ ^óþíÜ¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 800. 
    ” 16 Æ>gôý‹Ù ¯@þ$…yìþ Ðéç³çÜ$ Ð@þ_ā @þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 250. 
    ” 20 ÆæÿMæü$ÌŒý ¯@þ$…yìþ Mö¯@þ² çœÈ²̂ èþÆŠÿ Ææÿ*‘‘ 2,000. ð̂þMæü$P gêÈ ^óþòÜ¯@þ$. 
    ” 24 M>È¢MŠüMæü$ Ðéç³çÜ$ ^óþíÜ¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 800. 
    ” 26 AÐ@þ$ÆŠÿMæü$ AÑ$Ã¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 4,500. 
    ” 28 Ææÿ™èþ² ¯@þ$…yìþ Mö¯@þ$VøË$ ^óþíÜ¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 3,200. 
    ” 30 AÐ@þ$ÆŠÿ ¯@þ$…yìþ Ðéç³çÜ$ Ð@þ_ā @þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 1,800. 
    ” 31 Ææÿ™èþ²Mæü$ Ðéç³çÜ$ ^óþíÜ¯@þ çÜÆæÿ$Mæü$ Ææÿ*‘‘ 1,400. 
      
Q16) Hari sells goods for Rs. 12,000 to Mohan on 1st January, 2016 and on the same 

day draws a bill on Mohan at three months for the amount. Mohan accepts it and 

return it to Hari, who discounted it on 3rd January, 2016 with his bank at 8% p.a. 

The acceptance is dishonoured one due date, the noting charges paid by the bank 

being Rs. 60. 

 On 5th April, 2016 Mohan accepts a new bill at three months for the amount due 

to Hari together with interest at 12% Per annum. Make journal entries in the 

books of Hari and Mohan. 

 f¯@þÐ@þÇ 1, 2016¯@þ çßýÇ Ææÿ*‘‘ 12,000 ÑË$Ð@þ VæüË çÜÆæÿ$Mæü$¯@þ$ Ððþ*çßý¯ŒþMæü$ AÑ$Ã, A§óþ 
Æøk @̄þ A™èþ°Oò³ Ð@þÊyæþ$ ¯ðþËËMæü$ JMæü ¼Ë$Ï̄ @þ$ {ÐéòÜ¯@þ$. Ððþ*çßý¯Œþ B ¼Ë$ÏMæü$ A…XM>Ææÿ… 
™ðþÍí³, çßýÇMìü Ðéç³çÜ$ ç³…ò³¯@þ$. çßýÇ §é°° f¯@þÐ@þÇ 3, 2016¯@þ ™èþ¯@þ »ê…MæüÆæÿ$ Ð@þ§æþª 
çÜ…Ð@þ™èþÞÆ>°Mìü 8% ^öç³š¯@þ yìþÝûP…sŒý ^óþçÜ$Mö¯ðþ¯@þ$. Væüyæþ$Ð@þ# ™óþ©¯@þ ¼Ë$Ï A¯é§æþÆæÿ×ý 
^ðþ…¨¯@þ¨. »ê…Mæü$ ÐéÆæÿ$ ¯øsìý…VŠü (^éÈjË$) QÆæÿ$aË “Mìü…§æþ Ææÿ*‘‘ 60 ^ðþÍÏ…^ðþ¯@þ$. 

 H{í³ÌŒý 5, 2016 @̄þ Ððþ*çßý¯Œþ Ð@þÊyæþ$ ¯ðþËËMæü$ Mö™èþ¢ ¼Ë$Ï̄ @þ$ Ððþ¬™èþ¢… »êMîüOò³ çÜ…Ð@þ™èþÞÆ>°Mìü 
12% Ð@þyîþz™ø A…XM>Ææÿ… ™ðþÌñýµ̄ @þ$. çßýÇ Ð@þ$ÇÄ¶ý¬ Ððþ*çßý¯Œþ AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ 
{ÐéÄ¶ý¬Ð@þ¬. 
 

Q17) Arun & Co. consigned goods costing Rs. 40,000 invoiced at a price of             

Rs. 60,000 to Bhanu & Co. and spent Rs. 10,000 for carriage and forwarding 

charges. Bhanu & Co. received the goods and sent Rs. 15,000 as advance and 

paid Rs. 5,000 for unloading charges. Bhanu & Co. sold ¾ of goods for                    

Rs. 80,000 and incurred selling expenses of Rs. 2,000. They charged 

commission @5% on sales. The final balance is remitted by a bank draft.  

 Prepare necessary ledger accounts in the books of Arun & Co. 



   

 AÆæÿ$×Šý A…yŠþ Mø. Ææÿ*‘‘ 40,000 QÈ§æþ$ VæüË çÜÆæÿ$Mæü$Ë¯@þ$ Ææÿ*‘‘ 60,000Ë C¯éÓÆÿ¬‹Ü «§æþÆæÿMæü$ 
Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒý ç³§æþ®†Oò³ ¿ê¯@þ$ A…yŠþ Mø Mæü$ ç³…í³ ÆæÿÐé×êMæü$ çÜÆæÿ$Mæü$¯@þ$ ç³…õ³rç³šyæþ$                 
Ææÿ*‘‘ 10,000 QÆæÿ$a ^óþòÜ¯@þ$. ¿ê¯@þ$ A…yŠþ Mø çÜÆæÿ$Mæü$Ë¯@þ$ ïÜÓMæüÇ…_ ºÄ¶ý*¯éV>                      
Ææÿ*‘‘ 15,000Ë¯@þ$ ç³…í³ çÜÆæÿ$Mæü$ @̄þ$ ¨…^èþyé°Mìü Ææÿ*‘‘ 5,000 QÆæÿ$a ^óþòÜ¯@þ$. 3/4Ð@þ Ð@þ…™èþ$ 
çÜÆæÿ$Mæü$¯@þ$ ¿ê¯@þ$ A…yŠþ Mø Ææÿ*‘‘ 80,000ËMæü$ AÑ$Ã, AÐ@þ$ÃMæü… QÆæÿ$aË “Mìü…§æþ Ææÿ*‘‘ 2,000 
QÆæÿ$a ^óþòÜ¯@þ$. A™èþ¯@þ$ AÐ@þ$ÃM>ËOò³ @ 5% MæüÒ$çÙ¯ŒþMæü$ AÆæÿ$áyæþ$ : CÐ@þÓ§óþÍ¯@þ Ððþ¬™é¢°Mìü »ê…Mæü$ 
{yéçœ#t ç³…ò³¯@þ$. AÆæÿ$×Šý A…yŠþ Mø ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË¯@þ$ ^èþ*ç³…yìþ. 

 

Q18) On 1st January 2014 a machine was purchased for Rs. 50,000. On 31st December 

2016 one-half of the machine was sold for Rs. 12,000 as it become useless. On 

the same day a new machine was purchased for Rs. 20,000 and installed. The 

machinery was to be depreciated at 10% per annum on 31st December every year 

on diminishing balance method. Prepare machinery account for 4 years.  
 f¯@þÐ@þÇ 1, 2014¯@þ JMæü Ä¶ý$…{™é°² Ææÿ*‘‘ 50,000ËMæü$ Mö¯@þ$VøË$ ^óþÔ>Ææÿ$. yìþòÜ…ºÆæÿ$ 31, 

2016¯@þ Ä¶ý$…{™èþ…ÌZ çÜVæü¿êV>°² A¨ ç³°Mìü Æ>¯@þ…§æþ$¯@þ Ææÿ*‘‘ 12,000ËMæü$ AÑ$Ã, A§óþ 
Æøk @̄þ JMæü Mö™èþ¢ Ä¶ý$…{™é°² Ææÿ*‘‘ 20,000ËMæü$ Mö¯@þ$VøË$ ^óþíÜ Ýë¦í³…_¯éÆæÿ$. {ç³† 
çÜ…Ð@þ™èþÞÆæÿ… yìþòÜ…ºÆæÿ$ 31¯@þ ™èþVæü$Y™èþ$¯@þ² ÐéÆÿ¬§éË ç³§æþ®† {ç³M>Ææÿ… Ä¶ý$…{™éËOò³ çÜ…Ð@þ™èþÞÆ>°Mìü 
10% ^öç³š¯@þ ™èþÆæÿ$Væü$§æþË HÆæÿµÆæÿ^ðþ§æþÆæÿ$. ¯éË$Y çÜ…Ð@þ™èþÞÆ>ËMæü$ Ä¶ý$…{™èþ… Rê™é¯@þ$ ™èþÄ¶ý*Ææÿ$ 
^óþÄ¶ý$…yìþ. 
  

���� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 
        

Q1) Trade. 
 Ð@þÆæÿ¢MæüÐ@þ¬. 
   

Q2)  Plant Location. 
 ´ëÏ…r$ çÜ¦Ë °Ææÿ~Ä¶ý$…. 
   

Q3)  Globalisation. 
 {ç³ç³…`MæüÆæÿ×ý. 
   

Q4) Mutual Funds. 
 ç³ÆæÿçÜµÆæÿ °«§æþ$Ë$. 
  

Q5) Unlimited liability. 
 Aç³ÇÑ$™èþ º¬×ý »ê«§æþÅ™èþ. 
  

Q6) Statement in Lieu of Prospectus. 
 {ç³™éÅÐ@þ*²Ä¶ý$ ç³Ç^èþÄ¶ý$ ç³{™èþÐ@þ¬. 
  

Q7) Espirit-de-Corps. 
 çÜ…ïœ$¿êÐ@þÐ@þ¬. 
  

Q8) Features of formal organisation. 
 Ìê… è̂þ¯@þ {́ ëÄ¶ý$OÐðþ$¯@þ Ð@þÅÐ@þçÜ¦ Äñý¬MæüP Ë„æü×êË$. 
 
     SECTION – B 

     Answer any Two of the following. (2 × 5 = 10) 

   

Q9) Importance of Planning. 
 {ç³×êãMîüMæüÆæÿ×ý Äñý¬MæüP {́ ëÐ@þ¬QÅ™èþ. 

 
Q10) Functions of management. 

 °ÆæÿÓçßý×ý Äñý¬MæüP Ñ«§æþ$Ë$. 

Q11) Formal organization vs Informal organization. 



   

 Ìê…bèþ¯@þ {́ ëÄ¶ý$OÐðþ$¯@þ Ð@þÅÐ@þçÜ¦  vs  Ìê…^èþ¯@þ {́ ëÄ¶ý$Ð@þ¬ M>° Ð@þÅÐ@þçÜ¦. 
  

Q12) Advantages of Sole Trading Concern. 

 Ý÷…™èþ ÐéÅ´ëÆæÿ çÜ…çÜ¦ {ç³Äñý*f¯éË$. 
  

     SECTION – C 

     Answer any Three of the following. (3 × 16 = 48) 

 

Q13) What do you mean by Joint Hindu Family business? What are its advantages and 

disadvantages of a Joint Hindu family business? 

 íßý…§æþ* AÑ¿¶ýMæü¢ Mæü$r$…º çÜ…çÜ¦ A @̄þV> ±Ð@þ# HÑ$ ¿êÑÝë¢Ð@þ#? D çÜ…çÜ¦ Äñý¬MæüP 
{ç³Äñý*f¯éË$, ÌZ´ëË$ ™ðþÍÄ¶ý$gôýÄ¶ý$…yìþ. 

  

Q14) What are the advantages and disadvantages of planning? 

 {ç³×êãMîüMæüÆæÿ×ý {ç³Äñý*f¯éË$ Ð@þ$ÇÄ¶ý¬ ÌZ´ëË$ HÑ$sìý? 
  

Q15) Explain FW Taylor scientific management. 

 FW  sôýËÆŠÿ Äñý¬MæüP Ô>ïÜˆÄ¶ý$ °ÆæÿÓçßý×ý¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
      

Q16) Define MNC? Explain in detail the Role of MNC’s in industrial development? 

 MNC  ° °ÆæÿÓ_…^èþ…yìþ? ´ëÇ“Ô>Ñ$Mæü AÀÐ@þ– ®̈ÌZ MNC Ë ´ë{™èþ¯@þ$ ÑÐ@þÆæÿÐ@þ¬V> 
ÑÐ@þÇ…^èþ…yìþ. 

  

Q17) Define terms Equity share and Preference shares? Distinguish between equity 

shares and preference shares? Explain various types of preference shares? 

 DMìüÓsîý ÐésêË$ Ð@þ$ÇÄ¶ý¬ B«̈ MæüÅç³# ÐésêË¯@þ$ °ÆæÿÓ_…_ Ðésìý Ð@þ$«§æþÅ ™óþyéË¯@þ$ 
™ðþÍÄ¶ý$gôýíÜ, ÑÑ«§æþ ÆæÿM>Ë B«̈ MæüÅç³# ÐésêË @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

  

Q18) What is organization? Describe the features objectives and importance of 

organization. 

 Ð@þÅÐ@þçÜ¦ A¯@þV>¯óþÑ$? Ð@þÅÐ@þçÜ¦ Äñý¬MæüP Ë„æü×êË$, «§óþÅÄ¶ý*Ë$ Ð@þ$ÇÄ¶ý¬ {́ ëÐ@þ¬QÅ™èþË¯@þ$ 
ÑÐ@þÇ…^èþ…yìþ. 

  

���� 
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     SECTION - A  

     Answer any Four of the following. (4 × 3 = 12) 

 
        

Q1) State the importance of Statistics. 

 Væü×ê…Mæü Ô>çÜ̂… Äñý¬MæüP {́ ë«§é¯@þÅ™èþ¯@þ$ ™ðþË$µÐ@þ¬. 
   

Q2)  State the problems that arise in the collection of data. 

 §æþ™é¢…Ô¶ýÐ@þ¬¯@þ$ õÜMæüÇ…^èþ$rÌZ Ð@þ è̂þ$a çÜÐ@þ$çÜÅË¯@þ$ ™ðþË$ç³…yìþ. 
   

Q3)  Explain its meaning and three merits of HM. (Harmonic Mean). 

 çßýÆæÿ Ð@þ$«§æþÅÐ@þ$Ð@þ¬ AÆæÿ®… ™ðþÍµ, HOÐðþ¯é Ð@þÊyæþ$ Ìê¿êË¯@þ$ {ÐéÄ¶ý$…yìþ. 
   

Q4) Define MD; SD and QD. 

 Ð@þ$«§æþÅÐ@þ$ Ñ^èþË¯@þ…, {́ ëÐ@þ*×ìýMæü Ñ è̂þË¯@þ… Ð@þ$ÇÄ¶ý¬ ^èþ™èþ$Æ>®…Ô¶ýMæü Ñ^èþË¯@þ…Ë¯@þ$ 
°ÆæÿÓ_…ç³#Ð@þ¬. 

  

Q5) Discuss the merits of Rank Correlation. 

 Møsìý çÜçßýçÜ…º…«§æþ… Äñý¬MæüP {ç³Äñý*f¯éË¯@þ$ è̂þÇa…^èþ…yìþ. 
  

Q6) Define Regression. 

 {ç³† VæüÐ@þ$×ý… °ÆæÿÓ_…ç³#Ð@þ¬. 
  

Q7) Important properties of Transpose Matrices. 

 {sê¯ŒþÞ́ ù‹Ü (Transpose) Ð@þ*{†MæüË Ð@þ¬QÅ «§æþÆ>ÃË$. 
  

Q8) Define set? And give any two examples. 

 çÜÑ$† °ÆæÿÓ_…_, HOÐðþ¯é Æðÿ…yæþ$ E§éçßýÆæÿ×ýË @̄þ$ CÐ@þÓ…yìþ. 

 

     SECTION – B 

     Answer any Two of the following. (2 × 8 = 16) 



   

 
 

Q9) Calculate Median and mode from the data given below : 

   Wages (Rs.) No. of Workers 

   Above 30 520 

   Above 40 470 

   Above 50 399 

   Above 60 210 

   Above 70 104 

   Above 80 045 

   Above 90 007 
 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ Ð@þ$«§æþÅVæü™èþ… Ð@þ$ÇÄ¶ý¬ ºçßý$â¶ýMæüÐ@þ¬Ë¯@þ$ ÌñýMìüP… è̂þ…yìþ. 
   Ðóþ™èþ¯éË$ (Ææÿ*.) M>ÇÃMæü$Ë çÜ…QÅ 
   30 Mæü…sôý GMæü$PÐ@þ 520 
   40 Mæü…sôý GMæü$PÐ@þ 470  
   50 Mæü…sôý GMæü$PÐ@þ 399  
   60 Mæü…sôý GMæü$PÐ@þ 210 
   70 Mæü…sôý GMæü$PÐ@þ 104 
   80 Mæü…sôý GMæü$PÐ@þ 045 
   90 Mæü…sôý GMæü$PÐ@þ 007 
 

Q10) Calculate the average marks of the students. 

Marks 35-40 30-35 25-30 20-25 15-20 10-15 
Students 1400 2500 4500 1800 750 400 

 Ñ§éÅÆæÿ$®Ë çÜVæür$ Ð@þ*Ææÿ$PË¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 
Ð@þ*Ææÿ$PË$ 35-40 30-35 25-30 20-25 15-20 10-15 
Ñ§éÅÆæÿ$®Ë$  1400 2500 4500 1800 750 400 

 

Q11) Find the Standard deviation and coefficient of variations from the following 

data. 
Marks Upto 10 Upto 20 Upto 30 Upto 40 Upto 50 Upto 60 Upto 70 Upto 80 

No. of 

Students 

12 30 65 107 157 202 222 230 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ {́ ëÐ@þ*×ìýMæü Ñ^èþË¯@þ… Ð@þ$ÇÄ¶ý¬ Ñ^èþÆæÿ×ý Væü$×ýMæü…¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬ : 
Ð@þ*Ææÿ$PË$ 10Ð@þÆæÿMæü$ 20Ð@þÆæÿMæü$ 30Ð@þÆæÿMæü$ 40Ð@þÆæÿMæü$ 50Ð@þÆæÿMæü$ 60Ð@þÆæÿMæü$ 70Ð@þÆæÿMæü$ 80Ð@þÆæÿMæü$ 

Ñ§éÅÆæÿ$®Ë 
çÜ…QÅ 

12 30 65 107 157 202 222 230 

  
Q12) Write a note on the importance of Statistics to a Businessman, an economist, a 

Social worker and the Government. 
 JMæü ÐéÅ´ëÇMìü, JMæü BÇ®MæüÐóþ™èþ¢Mæü$, JMæü çÜÐ@þ*f õÜÐ@þMæü$°Mìü Ð@þ$ÇÄ¶ý¬ {ç³¿¶ý$™éÓ°Mìü Væü×ê…MæüÔ>çÜˆ 

{́ ë«§é¯@þÅ™èþOò³ ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. 



   

 
  

     SECTION – C 

     Answer any Three of the following. (3 × 14 = 42) 

 
 

Q13) What is Secondary Data? What are its sources? Also state the limitations of 

Secondary data. 
 ¨Ó¡Ä¶ý$ §æþ™é¢…Ô¶ýÐ@þ¬ A¯@þV>¯óþÑ$? §é°Mìü V>¯@þ$ Ð@þÊÌê«§éÆ>Ë$ HÑ? ¨Ó¡Ä¶ý$ 

§æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ V>¯@þ$ ç³ÇÑ$™èþ$Ë¯@þ$ Mæü*yé ™ðþË$ç³…yìþ. 
  

Q14) Define the term Set? Describe different types of sets with suitable examples. 
 çÜÑ$† °ÆæÿÓ_…ç³#Ð@þ¬? ÑÑ«§æþ ÆæÿMæüÐ@þ¬OÌñý¯@þ çÜÑ$™èþ$Ë¯@þ$ Væü*Ça ^èþMæüP° E§éçßýÆæÿ×ýË™ø 

ÑÔ¶ý©MæüÇ… è̂þ…yìþ. 
  

Q15) Calculate Bowley’s coefficient of skewness from the following data : 

Profit (Rs. in lakhs) 20 40 60 80 100 

No. of Companies 8 28 78 90 100 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ »oÌôý OÐðþçÙÐ@þ$Å Væü$×ýMæü…¯@þ$ ÌñýMìüP… è̂þ…yìþ. 
Ìê¿êË$ (Ææÿ*‘‘ Ë„æüËÌZ) 20 40 60 80 100 

Mæü…ò³±Ë çÜ…QÅ 8 28 78 90 100 

 

Q16) Find correlation coefficient for data given below : 

Age (in Years) 42 36 48 43 55 52 38 
Blood Pressure 132 120 140 133 142 148 122 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ çÜçßýçÜ…º…«§æþ Væü$×ýMæü…¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬ 
Ð@þÄ¶ý$çÜ$Þ (çÜ…Ð@þ™èþÞÆ>ËÌZ) 42 36 48 43 55 52 38 
ÆæÿMæü¢́ ùr$ 132 120 140 133 142 148 122 

 
  



   

 

Q17) a) Find Six A.M’s between 4 and 25. 

  4 Ð@þ$ÇÄ¶ý¬ 25 Ë Ð@þ$«§æþÅ BÆæÿ$ A…Mæü Ð@þ$«§æþÅÐ@þ*Ë¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 

 b) The first term in G.P is 2, Sixth term is −
�

�
 then find the value of 14

th
 term. 

  JMæü Væü$×ý“ÔóýÉìþÌZ° Ð@þÊyæþÐ@þç³§æþ… 2, BÆæÿÐ@þç³§æþ… − �

�
  AÆÿ¬™óþ 14Ð@þ ç³§æþ… G…™èþ? 

  

Q18) Solve the following equations under Matrix method. 

 5x – 6y + 4z = 15 

 7x + 4y – 3z = 19 

 2x + y + 6z = 46 

 “Mìü…¨ çÜÒ$MæüÆæÿ×êË¯@þ$ Ð@þ*{†M> ç³§æþ®† §éÓÆ> Ýë«̈ … è̂þ…yìþ. 

 5x – 6y + 4z = 15 

 7x + 4y – 3z = 19 

 2x + y + 6z = 46 

  
 

���� 

 


